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It is a wpsn — RI7 RROPI

Overview

The 7n writes' concerning a 2w “¥2 M2 (and the same applies to all 2109
TWIPIAT) that "3 1T MV RHLA 119080 w2, We derive from this 210D
that wTPH *2109 may be eaten 7137 NXMIVA and w3 nxmIv3. The 770 writes
elsewhere’ "3 77771 921 131 33T WY TAYwA YIRS 990 KY; indicating that you
may not eat w32 the "3 wyn if it is XY, as you can eat Tywa the 20
R PwTpan. We derive from this 105 that there is an X2 M0°K for eating
aRM™IvA [Paw] wyn. Our XI7a teaches that since IwWy»n and o°w7p are written in
this same *p109 we derive from a wpei that just as it is forbidden to eat Wy
RM3, it is also forbidden to eat IRMIVA WP, Our MBI finds it difficult
why a wp°17 is required to prohibit XMV WP NPIR.

mooin asks:
— RPN 1Y 599 INNPN NN
It is astounding! Why does he refer to the Mo°X of nXmwva WP NPOX as

being derived from a wps1?!
— JINSY 7992 71192) XYDA NN 25N YNHPT Y 79N

He can derive nxmuva oow7p n?OX MO°R because the e explicitly
mentions wWTI?, as it is written TIRXY 7972 17122 (and the first born of

your herd and flock). It is not necessary to derive w7p from “wyn through a wpr,

when we can derive 2°w7p directly from this P05 of 210K 5210 K5.
— *NYD INAD 9999 5123 TUPNRY NIAINY

For the warning against eating 7X»102 9wy» is also derived (only) from

this ?199; we can therefore drive X212 2WTP N2°2X ME°X from this very same oD,
without resorting to a wpon.

Mo0IN answers:

35,0 (7%7) o2,

* The Xnu is Xnun the Tw2; the Xnu is eating 7137 NXMW2 and the MY is eating w2 PRV

1,20 ow. It reads: 1 TN 31 TATI 91 1A T2 MDY NN TIT WA TAWWA IRD 9N KY.

4931 73 591 " TP MM are DWTp.

3 If the Y of IRMLA Wwn N9OX was derived from a different p1oo (indicating that we cannot derive T10°R
RNV WYN NP°IX from the P05 of 71IX? 9510 R?), it would be understood why the wp*1 is required since we
cannot derive aR™W N°IR T0°K from this P109. However since axmW2 wyn n7°R is derived from this 109,
then %m0 2°W7P N?°OX MO°KR can also be derived from this p109.

% The 71 teaches us that even though you may eat 7Xm©v2 TWWw2 PWNPAT *2100; however you may not eat
XMV 7w owTp if they are not 210, just as we derive the W7 for eating I8mW2 WwyH. See ‘Overview’.
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—7ANIN MOIN DIYN YDA TPI8T 1Y U
And one can say; that the wpn is required in order to establish a W for

FIRIT IO of DRNL DWIP -
— S)NYa NDPW NI NIDINY WAt NP PN NYT

So that you should not establish the words 70X> X7 in the po2 of WX "wam

79w WRA 9ORY K7 Xav 922 vy, to inform us that there is a IR if one is 7371 from
RNV DWTP.

moon will now prove that we can (and must) derive the 8% of 1X17 MoK for DXL WP
from wyn:
NN INPLIY WTD YA AN MOIN 199 NY (vhs qm PAVT Y D939
10
VYN

For in the second P92 of naw noon we can only derive the X7 909K of
wTp 1w which became X% from no other source, only from =ww».

Summary
The wp i of W"yn to 0°w7p teaches that there is a W? for oXav DWIPA 71737

(but not for 79°5X% MoKk which can be derived directly from the p10).

Thinking it over
What is the difference if there is [merely] an M0°X for having 7X17 from
o°Rnv o°wIp or if there is (also) a W for being DRy DWIPn "1M?

" This discussion is not following the view of (7°p111, nor of) 12aR ™.

¥ If not for the wp*n, we would derive "X Mo°X for 0°Xnb 2°w7p from the P1OD of P1IXY Y20 K (as MOOIN
asked in the question), we would derive nX37 MOR for °xnv o*wTp (but without a WR?) from X WK Wwam
AW WX "3 R 932 (the fact that it is to be burnt indicates it is X372 70K). Finally we would derive a W%
for @ Rnv 2WIPH mIM1 from 9oX° XY in the 109 of 131 ¥3° WX Wwam (this would be derived in a P 11X X
777387 [which we know from 7198 9510 X7] then 7R3 11 ¥13n). There would be no extra 109 to teach us
7790 OMOR RW2 IR1T M0°R. However now that there is a wp i of 2°w7p to Wwyn, therefore we derive from
the wp i that there is a W% for °Xnu DW7pn 1IM3, just as there is a W2 for being Xnw Wwynn 7171 (see
following footnote # 9). Therefore the 928> X7 (in the P10 of Wwam) is extra to teach us XRW2 7RI MO
o110k, This explanation follows the view of the X"w1an. [See 16 7w W'k mvon (and 2py 39 >"aa ™0
P 21mwIp) and 7"1 "2 70 5V 2R TORA R"wAnn for an alternate explanation.]

? The X3 there makes a 1"p, if by 9pn “wyn there is a rule of Xnva 13» *NAwa XY, then certainly it should
apply to W [1nw] which is more 2mn than 2wyn. (It does not state there however that there is a 1857.)

191t would seem that n19oWn maintains that the P10 of Xnv2 AN N2 K> (concerning w"yn) is considered a
X7 (not like Xwpii 17"72 °"wM). [Perhaps the Rnva 1mn "nwa X teaches that when the 770 wrote 9210 X°
T>Wwa 2198 (concerning Wwyn) it meant 7R3 as well, therefore he is 770 that *nava &9.] The fact that the
TR MOR of (1Y nYwa) Rxv 7w must be derived from w"vn and cannot be derived from 938° X% (of
"wam") as are all other X317 10K, indicates that we must first establish a W for Rnav wTpn 7371 before we
can derive 2 MR X2 7R3 MR (for otherwise the 938 8% would teach us the RS for D RAL 2WTPH IR
[as mentioned in the previous footnote # 7]).
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